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(1) 81x* —16y*
= (9x%)? — (4y%)*
= (9x% — 4y2)(9x? + 4y?)
= (Bx — 2y)(3x + 2y)(9x? + 4y2)

<(1)D hlfiE>
81x* — 16y*
= (Bx — 2y)(27x> + 18x%y + 12xy? + 8y?3)
= Bx —2y){9x*(Bx + 2y) + 4y*(Bx + 2y)}
= (3x —2y)(3x + 2y)(9x? + 4y?)

(2) 27x*+ 8xy3
= x(27x3 + 8y?3)
= x{(3x)* + (2y)*}
= x(3x + 2y){(3x)? — 3x - 2y + (2y)?}
= x(3x + 2y)(9x% — 6xy + 4y?)

(3) 4x% —24xy +36y2 —4x + 12y + 1
= (2x—6y)*—202x—6y)+1

= (2x — 6y — 1)?
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(1) ATOVEHEIT
I]La(6+9+15+16+18+20 +24+24+31+34) =19.7
oalis AP
Ila{(s —19.7)% +(9 — 19.7)* + (15— 19.7)% + (16 — 19.7)% + (18 — 19.7)? + (20 — 19.7)?

+ (24— 19.7)% + (24— 19.7)2 + (31 — 19.7)2 + (34 — 19.7)?} = 71.01
FIERIZ. B THOEHEIE

1
Ia(lS+16+23+25+25+27+29+30+38+ 39) = 26.7
7
1
T {(15 —26.7)% + (16 — 26.7)% + (23 — 26.7)% + (25 — 26.7)% + (25 — 26.7)% + (27 — 26.7)?

+ (29 — 26.7)* + (30 — 26.7)% + (38 — 26.7)% + (39 — 26.7)%} = 56.61
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AT
%{(6)2 +(9)% + (15)% + (16)% + .(18)2 + ('20)2 +(24)% + (24)% + 31)% + (34)3} — (19.7)?
= 71.01
B i
-%{(15)2 +(25)% + (27)% + (16)2 + (39)% + (30)% + (29)2 + (23)2 + (25)% + (38)%}

—(26.7)? = 56.61
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115(15+16+23+25+25+27+29 +30+39+41) =27

Fo. DEE

—11—0{(15 —27)% + (25 —27)% + (27 —27)% + (16 — 27)2 + (39 — 27)2 + (30 — 27)% + (29 — 27)*
+ (23 —27)% + (25 — 27)2 + (41 — 27)%} = 64.2
62 5 el o —
1—10{(15)2 +(25)% + (27)% + (16)% + (39)% + (30)% + (29)% + (23)% + (25)% + (41)%} — (27)?
= 64.2
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(1) 5x+6y=40Lk"Y

@)

Sx =2Q20-3)THDZ M6, xiL 2 DfEHTH S,

x =208F, 5xX2+6y=40L729, 6y=30, y=5 L7 5DT.
x =2, y=5(35x + 6y = 40DEEMED—>Th 5,

WxIZ, FRRAII5(x—2)+6(y—5)=0

T 7205 5(x—2) =—6(y —5)
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Kby =5@8—-x)THDZ b, yiEb DKL .
BEML L Tx =2,y =528 T L\,

47x — 115y =6

115=47-24+21TH B Z L 5, 47x — 115y = 63

47x — (47-24+21)y =6

47(x —2y) - 21y =6 :

x—2y=s--D&BL L, 47s-21y=6

47 =21-2+505(21-2+5)s— 21y =6
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21=5-44+1056, 55+ (G-4+1Dt=6

5(s+4)+t=6

s+4t =k @tk L, Sk+t=6

bt =—-5k+ 6@

@D bs = k— 4t

@%NALTs =k—4(—5k + 6) = k+ 20k — 24 = 21k — 24-----6)

RIZ, @by =2s—t ' '
@DFRALTy=2s+5k—6 |
®%MRALTy =221k — 24) + 5k — 6 = 42k — 48 + S5k — 6 = 47k — 54-----©)
SHiZ, Orbx=s+2y

OO®%RAL Tx =21k — 24 + 2(47k — 54)=21k — 24 + 94k — 108 = 115k — 132
Ko, fRidx = 115k — 132, y = 47k — 54 (k IZ3E%)
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47x — 115y = 6-+----@D
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115=47-2+21)°521 =115—-47-2=n—2m |

47 =21-2+4+5/55=47-21-2=m—(—2m)-2 =5m—2n

21=5-44+10"b, 1=21-5-4=n-2m— (5m—2n) -4
=n—2m-—20m+8n=—-22m +9n

WRIT, 47-(=22)+115-9=1

M3 6 Z ) T47 - (—132) — 11554 = 6-+-++- ®
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